AIR COMMAND

Air
Pressure

2239

INSTALLATION INSTRUCTIONS

Congratulations on your purchase of a new Air
Compressor Accessory Kit. Thiskitwill be anassettoyour
vehicle, meeting nearly any of your air supply needs.

Please take a few minutes to read through the
instructions, identify the components, and learn how to
properly install your Air Compressor Accessory Kit.

NOTE:

THis kiTis NOT DESIGNED TO RUN AIR POWERED TOOLS.
THE COMPRESSOR IS DESIGNED TO RUN AT A 20% DUTY
CYCLE WITH A MAXIMUM RUN TIME OF 6 MINUTES. PLEASE
ALLOW ADEQUATE TIME FOR THE COMPRESSOR TO COOL
BETWEEN RUNNINGS.

NOTE ON CONNECTING AIR LINE TUBING:

Cuttheairline tubingas square as possible. Toconnect
theairline tubingto the fitting, push the tubing into the fitting
as faras possible. Ifthe tubing must be removed from the
fitting, firstrelease the air pressure from the system. Push
the collar on the fitting toward the body of the fitting and
pull out the tubing.

TooLs REQUIRED:

o UTILITY KNIFE 3/8" DRILL BIT

® PHILLIPS SCREW DRIVER e 11/16" DRILL BIT
WIRE cRIMPER/STRIPPER e E|ECTRIC DRILL
(2) 9/16" oPEN-END WRENCH  ® 1/2" WRENCH

e CENTER PuncH 3/8" WRENCH

PARTS LIST

COMPRESSOR 9210 10-32 x 1" MACHINE SCREW
AIR TANK 9127 10 -32 NYLON-INSERT HEX NUT
PRESSURE SWITCH 9016 3/16" FLAT WASHER
COMPRESSOR T-FITTING 3066 18 FT. AIR LINE TUBING

1/4" NPT PTC MALE FITTING
BULK HEAD FITTING

DRY COUPLER FITTING
INFLATION GAUGE UNIT
25 FT. EXTENSION HOSE
3/8"-16 x 1" HEX BOLT
3/8"-16 FLANGED HEX NUT
3/8" FLAT WASHER

S S S T T T 06 IS ST G G

NYLON TIE

15 FT. 16 GAGE WIRE
WIRE CONNECTOR
FEMALE SPADE TERMINAL
20 AMP BLADE FUSE

FUSE HOLDER

_ ek e  a O DN W

24-8216

08-02

NAD-30734-2



2239

Auxiliary Air Inflation Kit

AIR GAUGE

tof

AIR GUN

Figure “A”

PUSH-TO-CONNECT
PUSH-TO-CONNECT MALE CONNECTOR
MALE CONNECTOR

3 GALLON AIR TANK

BULKHEAD
PUSH-TO-CONNECT

DD

BULKHEAD
FITTING

\ / MOUNTING
AIR TANK BRACKET OURTNG
AIR LINE RED

FEMALE SPADE 20 AMP FUSE

CONNECTOR t
PRESSURE _/ FUSE
Air Tank Attachment SWITCH HOLDER
COMPRESSOR / AIR FILTER

T-FITTING |
WIRE
ﬂ CONNECTOR
11

=i AIR COMPRESSOR |

RING POSITIVE 12 VOLT,

O) TERMINAL 20 AMP MINIMUM,

BLACK IGNITION ACTIVATED
(TO GROUND) POWER SOURCE

24-8216



SteP 1 - PREPARE THE VEHICLE
BRASS SLEEVE
COMPRESSOR Remove the negative terminal on the battery.
< f FOOT
£ =
StEP 2 - PREPARE THE COMPRESSOR
"~__ RUBBER .
\ ISOLATOR Install the rubber isolator feet to the compressor from the bottom
10-82x 1° ofthe compressor foot. Insert the brass sleeve into the top of the rubber
PHILLIPS 3/16” FLAT WASHER . . npn P
PAN HEAD BRASS SLEEVE isolator foot see Figure "B". Install the compressor T-fitting into the
L~ Y / COMPRESSOR threaded exhaust port on the compressor head see Figure "A". Tighten
g 2/’ f FooT the fitting sufficiently to engage the pre-applied orange thread sealant.
£ g é 3 (Torque to 40 in. Ibs.) DO NOT OVERTIGHTEN THE FITTING.
é g ~~__ RUBBER Install the air filter into the threaded inlet port on the compressor head
4 4 ISOLATOR (finger tight). Install the pressure switch into the compressor T-fitting.
~_ VEHICLE Install the positive (red) wire from the compressor onto either spade on
[ \ SURFACE the pressure switch see Figure "A".
lo-s2 3/16” FLAT WASHER
NUT StEP 3 - MOUNT THE COMPRESSOR
Figure "B" . . . .

Selectaconvenient location to mountthe compressor. This location

should provide ample air flow and be protected from airborne debris and
moisture. The mounting surface should be rigid to support the compressor, such as under the hood on a fender well or
in a vented storage compartment. The compressor is oil-less and can be mounted in any orientation necessary for
installation.

Using the compressor template provided, center punch, and drill three 3/16" holes. Before drilling, ensure that there
are no electrical, fuel, or brake lines on the opposite side of the mounting surface that can be damaged by the drill. Any
burrs inthe holes should be removed to prevent damage to the rubber isolators. Mountthe compressor using the supplied
10-32 x 1" machine screws, 10 -32 lock nuts, and 3/16" washers see Figure "B". Maximum vibration isolation can be
achieved by properly mounting the compressor. The machine screw and nut should be tightened only enough to bottom-
outthebrassinsertsee Figure "B". DO NOT OVERTIGHTEN. Overtightening will crush the brass insert and the rubber
isolator, thereby reducing vibration isolation.

Attach the black wire from the compressor to a grounded component of the vehicle's chassis.

ST7EP 4 - MOUNT THE AIR TANK

Install the male push-to-connect fittings into both ports on the air tank. Tighten the fitting sufficiently to engage the
pre-applied orange thread sealant. Select a location to mount the air tank. This should be a protected location to prevent
damage from flying rocks ordebris. Usingthe holes in the tank brackets as a template, mark the locations of the mounting
holes on the mounting surface. Use a center punch to mark the center of the holes on the mounting surface. Before drilling,
ensure that there are no electrical , fuel, or brake lines on the opposite side of the mounting surface that can be damaged
by the drill. Drill four 7/16" holes on the center marks. Using the supplied 3/8" hex bolts and flanged hex nuts, attach
the airtank in to the mounting surface see Figure "A". Ensure that clear accessto the fittings on the air tank is maintained.
Do not exceed 120 psi in the tank.

S1EP 5 - MOUNT BULK HEAD FITTING

Install the bulk head fitting in a convienent protected location. The location could be any rigid flat surface that would
be accessible for easy discharge of air for the end user. Before drilling, ensure that there are no electrical, fuel, or brake
lines on the opposite side of the mounting surface that can be damaged by the drill. Mark and drill a 11/16" hole in the
desired location. Install the bulk head fitting and tighten, see Figure "E". Install the 1/4 NPT on the compressor side of
the bulk head fitting and tighten the fitting sufficiently to engage the pre-applied thread sealant. Install the dry coupler fitting
on the other side of the bulk head fitting and tighten the fitting sufficiently to engage the pre-applied sealant.



Figure "D"

FUSE HOLDER %

STEP 6 - ROUTE THE AIR LINE TUBING

Route alength of air line tubing from the push-to-connect fitting on
the air tank to the T-fitting on the compressor see Figure "A". Route
a length of the airline tubing from the tank to the bulk head fitting, see
Figure "A". Route the air line to avoid sharp edges or heat from the
engine or exhaust system. Usingarazor knife, make the cut as square
as possible and push the air line into the fittings as far as possible. Do
not fold or kink the air line tubing.

St1eP 7 - WIRE THE SYSTEM

Strip 1/4" off'the end of the red 16 gage wire supplied with the kit.
Crimp a female spade connector onto the end of the red wire. Install
the female spade connector onto the remaining spade on the pressure
switch. Usinga wire connector, attach the opposite end of the wire to
anignition activated, positive 12 Volt,20 Amp minimum power source.
Consult the manufacturer's wiring diagram for your vehicle. Slip the
wire connector over the existing ignition activated wire and insert the
un-stripped 16 gage wire into the connector. Close the wire connector
over the wires with pliers see Figure "C".

Installan in-line fuse in the 16 gage power wire, as close to the power
source as conveniently possible. Cut the 16 gage wire and insert the
un-stripped ends into the fuse holder. Close the fuse holder with pliers
and insert a 20 Amp blade fuse see Figure "D".

NOTE: Should additional wire be necessary, 16 gage multistrand
wire may be used.

STEP 8 - TEST THE SYSTEM

Re-attach the negative terminal on the battery. Turn on the vehicle's ignition. The air compressor will run for a short
time to build pressure in the tank. Once the pressure reaches 120 psi in the air tank, the pressure switch will turn the
compressor off. It will not restart until the pressure in the tank drops below 90 psi.

UsinG THE AIr ComPRESSOR AccessoRry KiT

Yoursystem is now ready to use. With the coiled tubing provided, attach the end with the coupler fitting to the bulk-
head fitting. Install the coupler fitting on the gauge unit then attach the gauge unit to the coiled tubing You can now use

the air chuck gauge unit for inflation.

FILTER MAINTENANCE

Itisrecommended that the air compressor filter be inspected periodically. The air compressor filter is located on the
head ofthe compressor opposite the T-fitting. Ifthe filter is sufficiently clogged with road debris or moisture, it will require
replacement. Contact your dealer for replacement filters (WR1-760-9129).

—U |

- _
)

I

Figure "E"




